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(2, — 225+ 325 =a

(1) —41’1 + 31’2 — X3 = b
| 311+ 22+ 213=¢

.
T — 209 —3T3+ 14 =0

3x1+x2+x3+3x4:a
2$1+3[E2+4[L‘3+2[E4:b
(D21 — X2 — DXz + Oy = ¢

(3)

T1+ 2o +a3=1

(2) T+ 21‘2 + 31'3 =1

(4)

ax, + bry 4+ crs =1

$1+ax2+3$3+6x4:a
ZE1+2$2+3$3+3@I4:Z)+1
2[L‘1+I2+3ZE3+3ZE4:2Z)—1
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3$1 —|—4$2 =2

(1)

111—31’2:5

( l’1+l‘2+l’3:6
(3) € 2x1 — 29+ 323 =9
\3.CE1—|-2$2—£E3:4

(l'1+2$2+3£€3:3
(5) $1+$2+ZE3:2
V’L‘1+5ZL’2+9(L’3:6

(3331 + 6332 + 21.’£3 + 91’4 =24
(7) 233‘1 + 333‘2 + 5273 + 2&34 =13

71’1 +9I2+4JZ3+I4 =41

\

(—x1+2$2+x3—4x4:—4

201 — 319 + 13 — 204 = =7

r1 + dbre +4x3 — x4 = 13
T1+ a9 —23—24 =0

\

(2)

l'1+21’2:3
21]1+4J]2:6
I1+$2+2Z‘3:1

31’1 —|—4$2+6?L’3 =0

\—1‘1—|—2ZL‘2—$3:2

1’1—$2+2$3:—3
3[L’1+I3:4
21‘2—31’3:8

\

( T, — 209 +x3 —4xy =3

—25(]1 + 5562 — 31’3 + 10564 = -3
3x1 — Ty + 4x3 — 1424 =0

\

( ZL’1—$3+5$4—5£E5:3

—T1 + X9+ 35(?3 — 8%4 + 75[55 = -8
2:L’1—$2+ZL‘3—|—3£L‘4—7[L‘5:—4
\3x1 — 2x9 + 223 + 3x4 — 1025 = —8




